Pre-Calculus Honors
Objective 1.2: Interval Notation

Do Now:
I 1fh(x) = 2x< - 3, whatis x when h(x) = 15 Y= r
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3. Iff(x)-3=2 findx

x =3 or - H
Interval Notation

All numbers from 3 to 10...
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Examples:

1. Inequality: 3 <x < 10

Interval Notation: ES ,0]
)

3. Inequality: 4 <x<2
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Interval Notation: I:-— q , 2_ )

Fill in the missing information

4. Inequality: — | & ¥ & Ll.

Interval Notation: (-1, 4]

Bounded vs. Unbounded
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Inequality: x>-2
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then 3 and 10 are not

s exclusive

included (they are excluded)

Exclusive is...
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2. Inequality: 3 <x < 10

.
T 1

1 | 1 | |
L L
c9 87 6 5

|
1
Kl ¢ 1+ 2 3 4 5 g 7 8 9 10

g I

|
I
4

[
LI
32

Interval Notation: (g " ,D)

NOTE:
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5.Inequality: « R L)( 1:._3

5 4 3 -2 -1 0 1 2 3 4 5

Interval Notation: (._ 3 ) 3]

Unions
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Sepavale Inttyvals

Example: x<-10R2=<x
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Interval notation: ( = 00, - ‘) U [Z '00)




Name
2. Inequality: o & L}

5 4 3 2 -1 0 1 2 3 4 5

Interval notation: (-2, 4)

Fill in the missing information

L. Inequality: -5 = x <-4 OR -3 = x
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Interval notation: ES - q> U [’3 ) 0°>
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3.Inequality:  _ q LXE- 2 or | £X

Interval notation:
[_-Ll; ’Z‘]U (‘IDO)

Scratch Work:
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Homework:

Write as an inequality and in interval notation.

1. X £ 3 Write the following inequalities as interval notation:
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